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ÍÛæ̃ Û¶ÛÛ :   ©Û¾ÛÛÁõÛ ¸ÛóÊ¶Û¶ÛÛé ¶Û×¼ÛÁõ ¸ÛóÊ¶Û¸ÛªÛ ¸Ûó¾ÛÛ¨Ûé ÅÛ”ÛÛé. 
Instruction : Write the no. of the question as per the question paper. 

 

1. …éïõ¾ÛÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. …éïõ¾ÛÅÛ“Ûà …¶Ûé ÍÛ¾Û•ÛóÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø 
ïõÁõÛé.         14 

 Define Microeconomics. Clarify the difference between Micro & Macro Economics. 

     …¬ÛÈÛÛ/OR 

 ÍÛ¾Û›ÛÈÛÛé : 
 Explain : 

 (i) ÈÛÛÍ©ÛÈÛÅÛ“Ûà …¶Ûé …ÛþùÉÛÙÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ  
  Positive & Normative Economics. 

 (ii) …Û×ÜÉÛïõ …¶Ûé ÍÛÛ¾ÛÛ¶ýÛ ÍÛ¾Û©ÛäÅÛÛ ÜÈÛÊÅÛéÌÛ¨Û 
  Partial & General Equilibrium Analysis. 

 

2. ÜÐüîÍÛ¶Ûà …ÈÛéœ÷¶Ûà …ÍÛÁõ …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.   14 

 Explain Hicksian substitution effect with the help of a diagram.  

     …¬ÛÈÛÛ/OR 

 “Ýïõ¾Û©Û …ÍÛÁõ …é …ÛÈÛïõ …ÍÛÁõ …¶Ûé …ÈÛéœ÷ …ÍÛÁõ¶ÛÛé ÍÛÁõÈÛÛÇÛé ™öé.” …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.  
  “Price effect is the sum total of income effect and substitution effect.” Explain with 

the help of a diagram. 

 

3. Š¸Û½ÛÛéî©ÛÛ …ÜµÛÉÛéÌÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ¾ÛÛÉÛÙÅÛ ³ùÛÁõÛ …Û¸ÛéÅÛ Š¸Û½ÛÛéî©ÛÛ …ÜµÛÉÛéÌÛ ÍÛÜÈÛÍ©ÛÛÁõ 
ÍÛ¾Û›ÛÈÛÛé.       14 

 Define consumer surplus. Explain in detail the consumer surplus given by Marshall. 

…¬ÛÈÛÛ/OR 

 ÍÛÛ¸Ûé“Û©ÛÛ …é¤øÅÛé ÉÛä× ? ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ …¶Ûé ¾ÛÛ×•Û¶Ûà …ÛÈÛïõ ÍÛÛ¸Ûé“Û©ÛÛ ¤æ×øïõ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé.  
 What do you mean by elasticity ? Briefly explain price elasticity of demand and 

income elasticity of demand. 
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4. ¸ÛéÁéõ¤øÛé ˆÌ¤ø©ÛÛ …é¤øÅÛé ÉÛä ? ©Ûé¶Ûé ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø¶Ûà ÍÛà¾ÛÛ¶©Û ÉÛ©ÛÛë ÍÛÜÈÛÍ©ÛÛÁõ ˜Û˜ÛÛë. 14 

 What is Pareto optima ? Discuss in detail marginal conditions to attain Pareto Optima. 

     …¬ÛÈÛÛ/OR 

 ¼Û•ÛÙÍÛ¶Û …¶Ûé ÍÛé¾ýÛäÅÛÍÛ¶Û ³ùÛÁõÛ …Û¸ÛéÅÛ ÍÛÛ¾ÛÛœ÷ïõ ïõÅýÛÛ¨Û ÜÈÛµÛéýÛ …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.  
 Explain with the help of a diagram social welfare function given by Bergson and 

Samuelson. 

 

5. ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà, ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁõ (a, b, c …¬ÛÈÛÛ d) ÅÛ”ÛÛé :  14  
 Choose the right answer and write only the no. (a, b, c or d) :  

 (1) …ÛÜ¬ÛÙïõ ÈÛèÜ±ù¶ÛÛ ¸ÛÜÁõ¨ÛÛ¾ÛÍÈÛÄõ¸Û Š©¸ÛÛþù¶Û ÉÛîýÛ©ÛÛ Áéõ”ÛÛ ïõˆ ¼ÛÛ›ä÷ ”ÛÍÛé ™öé ? 

  (a) ¼ÛÐüÛÁõ¶Ûà ¼ÛÛ›ä÷ (b) …×þùÁõ¶Ûà ¼ÛÛ›ä÷ 
  (c) ïõÛéˆ ºéõÁõºõÛÁõ ¬Û©ÛÛé ¶Û¬Ûà. (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá  
  As a result of economic growth, production possibility curve 

  (a) shifts outward (b) shifts inward 

  (c) remains unchanged (d) None of the above 

 (2) …ÛÈÛéÅÛ Š¸Û½ÛÛéî©ÛÛ¶Ûä× ÍÛà¾ÛÛ×©Û ©ÛäÜÌ¤ø•Ûä¨Û ÈÛ’õ ¼Ûà›ä×÷ ïõýÛä× ÈÛ’õ ÐüÛéˆ ÉÛïéõ ™öé ? 
  (a) ¾ÛÛ×•Û ÈÛ’õ (b) ©Û¤øÍ¬Û Áéõ”ÛÛ 
  (c) ïäõÅÛ ©ÛäÜÌ¤ø•Ûä¨Û ÈÛ’õ (d) ¸ÛäÁõÈÛ¥øÛ Áéõ”ÛÛ 
  Marginal utility curve of a given consumer is also his 

  (a) demand curve (b) indifference curve 

  (c) total utility curve (d) supply curve 

 (3) Š¸Û½ÛÛéî©ÛÛ ÍÛ¾Û©ÛäÅÛÛ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× îýÛÛÁéõ ¸ÛÐüÛê˜Ûé ™öé šýÛÛ× 
  (a) MU = P (b) MU < P 

  (c) MU > P (d) TU = P 

  A consumer reaches equilibrium at a point where  

  (a) MU = P (b) MU < P 

  (c) MU > P (d) TU = P 

 (4) Š¸Û½ÛÛéî©ÛÛ¶Ûä× ¾ÛÛ×•Û ÈÛ’õ ÉÛé¶ÛÛ ³ùÛÁõÛ ¾ÛéÇÈÛà ÉÛïõÛýÛ ™öé ? 
  (a) …ÛÈÛïõ Š¸Û½ÛÛé•Û Áéõ”ÛÛ 
  (b) …é¶œ÷ÅÛ Áéõ”ÛÛ 
  (c) Ýïõ¾Û©Û Š¸Û½ÛÛé•Û Áéõ”ÛÛ 
  (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá  
  A consumers demand curve can be obtained from 

  (a) Income consumption curve 

  (b) Engels curve 

  (c) Price consumption curve 

  (d) None of these  
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 (5) ©Û¤øÍ¬Û Áéõ”ÛÛ Ð×ü¾ÛéÉÛÛ 
   (a) ŠþÕù•Û¾Û Í¬ÛÇ¬Ûà …Û×©Û•ÛÛëÇ ÐüÛéýÛ ™öé.  
   (b) ŠþÕù•Û¾Û Í¬ÛÇ¬Ûà ¼ÛÜÐü•ÛÛëÇ ÐüÛéýÛ ™öé.  
   (c) ÅÛ×¼ÛÍ©ÛÁõàýÛ ÍÛàµÛà Áéõ”ÛÛ ÐüÛéýÛ ™öé. 
   (d) ÍÛ¾ÛÍ©ÛÁõàýÛ ÍÛàµÛà Áéõ”ÛÛ ÐüÛéýÛ ™öé.  

   Indifference curve is always 

   (a) concave to the origin (b) convex to the origin 

   (c) a vertical straight line (d) a horizontal straight line 

 (6) Š¸Û½ÛÛéî©ÛÛ ÍÛ¾Û©ÛäÅÛÛ¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× îýÛÛÁéõ ÐüÛéýÛ ™öé ? 
   (a) šýÛÛÁéõ ©Û¤øÍ¬Û Áéõ”ÛÛ Ýïõ¾Û©Û Áéõ”ÛÛ¶Ûé ™öéþéù ™öé.  
   (b) šýÛÛÁéõ ©Û¤øÍ¬Û Áé”ÛÛ Ýïõ¾Û©Û Áéõ”ÛÛ¶Ûà ÍÛ¾ÛÛ×©ÛÁõ ÐüÛéýÛ ™öé.  
   (c) šýÛÛÁéõ ©Û¤Í¬Û Áéõ”ÛÛ Ýïõ¾Û©Û Áéõ”ÛÛ¶Ûé Í¸ÛÉÛÙïõ ÐüÛéýÛ ™öé.  
   (d) šýÛÛÁéõ ¼Ûé ©Û¤øÍ¬Û Áéõ”ÛÛ…Ûé …éïõ¼Ûà›Û¶Ûé ™öéþéù ™öé.  
   The consumer is in equilibrium 

   (a) where the price line cuts the indifference curve 

   (b) where the price line is parallel to the indifference curve  

   (c) where the price line is tangent to the indifference curve 

   (d) where two indifference curves cut each other  

 (7) ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ïõýÛä× …Å»éõ¦ø ¾ÛÛÉÛÙÅÛ ÍÛÛ¬Ûé ¶Ûœ÷ïõ¬Ûà ÍÛ×ïõÇÛýÛéÅÛä× ™öé ? 

   (a) ©Û¤øÍ¬Û Áéõ”ÛÛ ÜÈÛÊÅÛéÌÛ¨Û 
   (b) ÍÛà¾ÛÛ×©Û ©ÛäÜÌ¤ø•Ûä¨Û ÜÈÛÊÅÛéÌÛ¨Û 
   (c) ¸ÛÍÛ×þù•Ûà¶Ûà …Ü½ÛÈýÛÜî©Û¶ÛÛé ÜÍÛ±ùÛ×©Û 
   (d) ©ÛÁõÅÛ©ÛÛ ¸ÛÍÛ×þù•Ûà¶ÛÛé ÜÍÛ±ùÛ×©Û  

   Which of the following is most closely connected with Alfred Marshall ? 

   (a) Indifference curve analysis 

   (b) Marginal utility analysis 

   (c) Revealed Preference Theory 

   (d) Liquidity Preference Theory  

 (8) šýÛÛ× ©Û¤øÍ¬Û Áéõ”ÛÛ Ýïõ¾Û©Û Áéõ”ÛÛ¶Ûé Í¸ÛÉÛë ™öé ©Ûé Ý¼Ûþäù…é ©Û¤øÍ¬Û Áéõ”ÛÛ¶ÛÛé §øÛÇ ïéõÈÛÛé ÐüÛéýÛ ™öé ? 
   (a) Ýïõ¾Û©Û Áéõ”ÛÛ¶ÛÛ §øÛÇ ïõÁõ©ÛÛ× ÈÛµÛÛÁéõ ÐüÛéýÛ ™öé.  
   (b) Ýïõ¾Û©Û Áéõ”ÛÛ¶ÛÛ §øÛÇ ›÷é¤øÅÛÛé (ÍÛ¾ÛÛ¶Û) §øÛÇ ÐüÛéýÛ ™öé. 
   (c) Ýïõ¾Û©Û Áéõ”ÛÛ¶ÛÛ §øÛÇ ïõÁõ©ÛÛ× …Ûé™öÛé ÐüÛéýÛ ™öé. 
   (d) Š¸ÛÁõ¶ÛÛ …éïõ¸Û¨Û ¶ÛÐüá  
   At the point of tangency, the slope of indifference curve is 

   (a) greater than as of the price line 

   (b) the same as of the price line 

   (c) smaller than of the price line 

   (d) None of these 
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 (9) …ÜµÛïõ ÍÛ×©ÛÛéÌÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ¶Ûà˜Ûé þùÉÛÛÙÈÛéÅÛ¾ÛÛ×¬Ûà ÉÛé¶ÛÛ ¸ÛÁõ …ÛµÛÛÁ ÁõÛ”Ûé ™öé ? 
  (a) ©Û¤øÍ¬ÛÁé”ÛÛ¶Ûä× ÜÈÛÊÅÛéÌÛ¨Û 
  (b) ¸ÛÍÛ×þù•Ûà¶Ûà …Ü½ÛÈýÛÜî©Û¶ÛÛé ÜÍÛ±ùÛ×©Û  
  (c) …ÈÛéœ÷¶ÛÛé Ü¶ÛýÛ¾Û 
  (d) –Û¤ø©ÛÛ ÜÍÛ¾ÛÛ×©Û ©ÛäÜÌ¤ø•Ûä¨Û¶ÛÛé Ü¶ÛýÛ¾Û  
  The doctrine of consumer surplus is based on 
  (a) Indifference curve analysis 
  (b) Revealed preference theory 
  (c) Law of substitution 
  (d) The law of diminishing marginal utility  
 (10) ¾ÛÛ×•Û¶Ûà …ÛÈÛïõ ÍÛÛ¸Ûé“Û©ÛÛ ›Ûé …éïõ (1) ïõÁõ©ÛÛ× ÈÛµÛÛÁéõ ÐüÛéýÛ ©ÛÛé ©Ûé ÈÛÍ©Ûä ïéõÈÛÛ ¸ÛóïõÛÁõ¶Ûà ÐüÛéýÛ ™öé ? 
  (a) ›÷ÄõÁõàýÛÛ©Û¶Ûà ÈÛÍ©Ûä (b) ¾ÛÛé›÷ÉÛÛé”Û¶Ûà ÈÛÍ©Ûä 
  (c) ÐüÅïõà ïõ“ÛÛ¶Ûà ÈÛÍ©Ûä (d) Ü¼Û¶Û-ÍÛ×¼Û×ÜµÛ©Û ÈÛÍ©Ûä 
  If the income elasticity of demand is greater than 1, the commodity is 
  (a) a necessity (b) a luxury 
  (c) an inferior good (d) a non-related good 
 (11) ÈÛÇ©ÛÁõ¶ÛÛé ÜÍÛ±ùÛ×©Û ïõÛé¶ÛÛ ³ùÛÁõÛ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈýÛÛé ™öé ? 
  (a) ïõÛÅ¦øÛéÁõ-ÜÐüïõÍÛ (b) ÍÛé¾ýÛäÅÛÍÛ¶Û-¼Û•ÛÙÍÛ¶Û 
  (c) …é.ÍÛà. ¸Ûà•Ûä (d) ÁõÛé¼Ûà¶ÍÛ 
  Compensation principle is given by 
  (a) Kaldor Hicks (b) Samuelson Bergson 
  (c) A.C. Pigou (d) Robbins 
 (12) ¾ÛæÅýÛÛ©¾Ûïõ Ü¶Û¨ÛÙýÛ ÉÛé¶Ûà ©ÛÛÁõÈÛ¨Ûà ¾ÛÛ¤éø ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 
  (a) Äõ¸ÛÛ×©ÛÁõ¨Û ÈÛ’õ  
  (b) ËÛéÌ¥ø ©ÛäÜÌ¤ø•Ûä¨Û ÉÛîýÛ©ÛÛ Áéõ”ÛÛ 
  (c) Š¸Û½ÛÛé•Û ïõÁõÛÁõ ÈÛ’õ 
  (d) ÍÛÛ¾ÛÛœ÷ïõ ïõÅýÛÛ¨Û ÜÈÛµÛéýÛ  
  Value judgement must be made in order to derive the  
  (a) transformation curve  
  (b) grand utility possibility curve 
  (c) consumption contract curve 
  (d) social welfare function  
 (13) “Economics of Welfare” ïõÛé¨Ûé ÅÛ”ýÛä× ™öé ? 
  (a) …é.ÍÛà. ¸Ûà•Ûä (b) ¶ÛàïõÛéÅÛÍÛ ïõÛÅ¦øÛéÁõ 
  (c) ÈÛàÅÛ»éõ¦øÛé ¸ÛéÁéõ¤øÛé (d) ÅÛÛýÛÛé¶ÛéÅÛ ÁõÛé¼Ûà¶ÍÛ 
  Who has written the “Economics of Welfare” ? 
  (a) A.C. Pigou (b) Nicholas Kaldor 
  (c) Vilfredo Pareto (d) Lionell Robbins 
 (14) ÍÛÛ¾ÛÛœ÷ïõ ïõÅýÛÛ¨Û ÜÈÛµÛéýÛ ïõÛé¶ÛÛ ³ùÛÁõÛ …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈýÛä× ™öé ? 
  (a) ÍÛé¾ýÛäÅÛÍÛ¶Û (b) ¾ÛÛÉÛÙÅÛ  
  (c) ¸ÛóÛé. ¼Û•ÛÙÍÛ¶Û (d) …éÁõÛé 
  The concept of social welfare function was given by 
  (a) Samuleson (b) Marshall 
  (c) Prof. Bergson (d) Arrow  

___________ 


